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Einfache Gleichungen 

Lösungsblatt 

 

𝑥 + 7 = 23     /  −7 

𝑥        = 23 − 7 

        𝒙 = 𝟏𝟔 

 
 

Probe: 

𝟏𝟔 + 7 = 23 

        23 = 23 

            w.A. 

 𝑥 − 13 = 11     /  +13 

𝑥           = 11 + 13 

           𝒙 = 𝟐𝟒 

 

Probe: 

𝟐𝟒 − 13 = 11 

           11 = 11 

               w.A. 

9 + 𝑥 = 35     /  −9 

        𝑥 = 35 − 9 

        𝒙 = 𝟐𝟔 

 
 

Probe: 

9 + 𝟐𝟔 = 35 

        35 = 35 

            w.A. 

 𝑥 − 18 = 42     /  +18 

𝑥           = 42 + 18 

           𝒙 = 𝟔𝟎 

 

Probe: 

𝟔𝟎 − 18 = 42 

           42 = 42 

               w.A. 

 

3 ∙ 𝑥 = 36     / ∶  3 

      𝑥 = 36 ∶ 3 

      𝒙 = 𝟏𝟐 

 
 

Probe: 

3 ∙ 𝟏𝟐 = 36 

      36 = 36 

          w.A. 

 𝑥 ∶ 4 = 9     / ∙  4 

𝑥       = 9 ∙ 4 

       𝒙 = 𝟑𝟔 

 

Probe: 

𝟑𝟔 ∶ 4 = 9 

         9 = 9 

           w.A. 

𝑥 ∙ 5 = 65     / ∶  5 

𝑥      = 65 ∶ 5 

      𝒙 = 𝟏𝟑 

 
 

Probe: 

𝟏𝟐 ∙ 5 = 65 

      65 = 65 

          w.A. 

 𝑥 ∶ 8 = 11     / ∙  8 

𝑥       = 11 ∙ 8 

       𝒙 = 𝟖𝟖 

 

Probe: 

𝟖𝟖 ∶ 8 = 11 

       11 = 11 

           w.A. 

 

6𝑥 − 2 = 40     /  +2 

6𝑥        = 40 − 2 

6𝑥        = 42     /  ∶  6 

  𝑥         = 42 ∶  6 

           𝒙 = 𝟕 
 

Probe: 

6 ∙ 𝟕 − 2 = 40 

   42 − 2 = 40 

           40 = 40 

               w.A. 

 4𝑥 + 12 = 32     / −12 

4𝑥          = 32 − 12 

4𝑥          = 20     /  ∶  4 

  𝑥           = 20 ∶  4 

             𝒙 = 𝟓 

Probe: 

4 ∙ 𝟓 + 12 = 32 

   20 + 12 = 32 

             32 = 32 

                  w.A. 

25 + 8𝑥 = 73     /  −25 

          8𝑥 = 73 − 25 

          8𝑥 = 48     /  ∶  8 

             𝑥 = 48 ∶  8 

             𝒙 = 𝟔 
 

Probe: 

25 + 8 ∙ 𝟔 = 73 

   25 + 48 = 73 

             73 = 73 

                 w.A. 

 13 + 7𝑥 = 41     / −13 

          7𝑥 = 41 − 13 

          7𝑥 = 28     /  ∶  7 

             𝑥 = 28 ∶  7 

             𝒙 = 𝟒 

Probe: 

13 + 7 ∙ 𝟒 = 41 

   13 + 28 = 41 

             41 = 41 

                 w.A. 
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